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Question Number : 1 Question Id : 7532292027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

MB, IX, FT, AP, WL
Options :

1. # IX

2.¥ FT

3. % AP

4. % WL

Question Number : 1 Question Id : 7532292027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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MB, IX, FT, AP, WL
Options :

1. % IX

2.¥ FT

3. % AP

4. % WL

Question Number : 2 Question Id : 7532292028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

BLM, EPJ, HTG, KXD, ?
Options :

1. ¥ NBA

2. % NAB

3. % MBA

4. % MCA

Question Number : 2 Question Id : 7532292028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U Ue g 21 fau T fawen & ¥ 98 9l fawed 9T, St 3igehd o T B

BLM, EPJ, HTG, KXD, ?
Options :

1. ¥ NBA

2. % NAB

3. % MBA



4. = MCA

Question Number : 3 Question Id : 7532292029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % ZT-BU
2. % VX -XY
3. % AN-CO
4. ¥ EQ-GP

Question Number : 3 Question Id : 7532292029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ZT - BU

2. % VX - XY

3. % AN-CO

4. ¥ EQ-GP

Question Number : 4 Question Id : 7532292030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(CP, EQ, GR)
Options :
1. ® (MZ, OB, QC)



2. ¥ (LN, NO, PP)
3. % (QS, ST, VU)
4. % (AC, CD, EF)

Question Number : 4 Question Id : 7532292030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(CP, EQ, GR)
Options :

1. ¥ (MZ, OB, QC)
2. ¥ (LN, NO, PP)
3. % (QS, ST, VU)
4. % (AC, CD, EF)

Question Number : 5 Question Id : 7532292031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

LOD :JTZ::?
Options :

1. # NCV :LFQ
2. % PJG:RMC
3. % CMS: APV
4. ¥ MRF : KUB

Question Number : 5 Question Id : 7532292031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy & fau 77T fowedl § O e sfeR g &1 gHu|



LQD :JTZ ::?
Options :

1. # NCV : LFQ
2. % PJG:RMC
3. % CMS: APV
4. ¥ MRF : KUB

Question Number : 6 Question Id : 7532292032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘FAMILY” is written as ‘LFSNRD’. What is the code for ‘REASON”’ in that code language?

Options :

1. % XJIGWTT
2. % XJGXUS
3. % XJGXTS
4. % XJGXST

Question Number : 6 Question Id : 7532292032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fIfR $IS YW &, ‘FAMILY” &1 ‘LFSNRD’ foral STl 8| $U B1S W H ‘REASON’® 1 1S 1 82
Options :

1. ¥ XJIGWTT

2. ¥ XJGXUS

3. ® XJGXTS

4. ¥ XJGXST

Question Number : 7 Question Id : 7532292033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys A, B, C, D and E go to five different schools one school among S1, S2, S3, S4 and S5 (not necessarily in the same order). A does not



go to S2. C goes to S4. D does not go to S2 or S3. E goes to S1.

Which of the following statement is correct?
I. D goes to S5.
II. B goes to S3.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 7 Question Id : 7532292033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % qEIIATE I

Question Number : 8 Question Id : 7532292034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A @ B’ means ‘A is the brother of B’, ‘A # B’ means ‘A is the father of B’, ‘A $ B’ means ‘A is the sister of B’, ‘A + B’ means ‘A is the
mother of B” and ‘A % B’ means ‘A is the husband of B’, then which of the following expression represents P as the father of S?

Options :
I.¥P%QSR+S



2. %8 P%Q+R#S
3.%¥P%QSRSS
4. ¥YP%Q+R@S

Question Number : 8 Question Id : 7532292034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

I.%¥P%Q$R+S

2. % P%UQ+RH#S

3. P%QSRS$S

4. YP%Q+R@S

Question Number : 9 Question Id : 7532292035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. ¥ Had Il

3. % [qUT el

4. % 1B




Question Number : 9 Question Id : 7532292035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven persons A, B, C, D, E, F and G live on seven different floors in the same building (not necessarily in the same order). The lower most floor
is numbered 1, the floor just above it is numbered 2 and so on. Three persons live between D and F. G live just below F. Two persons live
between A and B. One person lives between C and E. D lives on even numbered floor. A lives on odd numbered floor. E is not a neighbour of D.

Which of the following statements is correct?
I. Two persons live between E and G.
II. C lives on the fifth floor.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 10 Question Id : 7532292036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some P are Q.
II. Some Q are S.

Conclusions:
I. Some P are S.
II. All S are Q.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. * Both conclusion I and II follows

4. # Neither conclusion follows



Question Number : 10 Question Id : 7532292036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 11 Question Id : 7532292037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I.$SC,DEI
L. S D, ARI
Options :

1. % i} Frsh s SR R §

2. % G FSHY [ TT 11 3FJAR0T 6%l &
3. % I (FIShY [ T 111 STER0T B §
4. Dis W} FIop s SR T R §

Question Number : 11 Question Id : 7532292037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some A are B.
II. Some B are C.
III. Some B are D.

Conclusions:

I. Some A are C.
II. Some C are D.
III. Some D are A.

Options :

1. #® All conclusion follows

2. % Both conclusion I and II follows
3. # Both conclusion I and III follows

4. ¥ Neither conclusion follows

Question Number : 12 Question Id : 7532292038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd group of numbers from the given alternatives.



Options :

1. # (48,120, 192)
2. % (56, 128, 200)
3.9 (72,142, 214)
4. ® (88,160, 232)

Question Number : 12 Question Id : 7532292038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us d, fad e fowedl o @ Semsit & fawd 99g &1 gu|
Options :

1. * (48, 120, 192)

2. #® (56, 128, 200)

3. ¥ (72, 142,214)

4. % (88,160, 232)

Question Number : 13 Question Id : 7532292039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

16 | 17
15 | 21
13 |20
50 | 79| 7

Lh | a2

— | a2

L2

Options :
1. ¥ 86
2. % 98
3. %106
4. % 118



Question Number : 13 Question Id : 7532292039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 86

2. % 98

3. % 106

4, % 118

Question Number : 14 Question Id : 7532292040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many educated are employed?

Educated

Employed

Uneducated

Options :
1. % 26
2. % 5]



3.¥ 77
4. % 112

Question Number : 14 Question Id : 7532292040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 26
2. % 5]
3.¢¥77
4. % 112

fafera
HARA

Question Number : 15 Question Id : 7532292041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of teachers who are not men is 45.
II. The number of women who are not men is 98.



45| 16 98 — Woman

Teacher
\ 19 y
] 24
46 — N an

Options :
1. % Only I
2. % Only II

3. ¥ BothIand Il
4. % Neither I nor 11

Question Number : 15 Question Id : 7532292041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl

2. % HAd Il

3. % [ UGl
4. TBIIATR I

Question Number : 16 Question Id : 7532292042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man is facing towards north. He rotates 180 degree in the clockwise direction. He rotates 270 degree in the anti-clockwise direction. He again
rotates 90 degree in the anti-clockwise direction. Finally, he rotates 135 degree in the clockwise direction.

Which direction is he facing now?
Options :

1. ¥ North-West

2. % North-East

3. ® South-East

4. ¥ South-West

Question Number : 16 Question Id : 7532292042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ JWR-UigH

2. % IW-gd

3. % gfaorgd

4. % GlEuruigm

Question Number : 17 Question Id : 7532292043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi walks 10 km towards the south. He turns to the left and walks 12 km. He turns to the right and walks 10 km. He turns to the left and walks 5
km. He turns to the right and walks 6 km. He turns to the right and walks 9 km. Finally he turns to the right and walks 11 km. How far and in
which direction is he now from the starting point?

Options :

1. # 17 km South-West
2. % 17 km South-East
3. % 17 km North-West
4. # 15 km North-East

Question Number : 17 Question Id : 7532292043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 17 fo Hit. af&ror-uigy
2. ¢ 17 fop 1ft. < ferorgd

3. % 17 fob #t. I<R-UfgH



4. % 15 fp @ IwRUd

Question Number : 18 Question Id : 7532292044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

A ©

Options :

Question Number : 18 Question Id : 7532292044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T SHIA <1 TS SMperdl & THH &2



Question Number : 19 Question Id : 7532292045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

4

Options :




Question Number : 19 Question Id : 7532292045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3P H Y IY IR 3 a Bl g g & v snpfa AR 21

4

Options :

1.



Question Number : 20 Question Id : 7532292046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

L [xalwz

Options :

ono

Qoe
1. ®



Goo

o9
2. %

oduly

Goo
3.

000

¢Goo
4. %

Question Number : 20 Question Id : 7532292046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Qoo
QOCe

1. %

ooo
o9



o9

coo
3.

coo
00O
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Group Marks :
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Sub-Section Number : 1
Sub-Section Id : 753229135
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532292047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mehrangarh fort is situated in which state of India?
Options :

1. # Gujarat

2. # Jharkhand

3. ¥ Rajasthan

4. % Bihar

Question Number : 21 Question Id : 7532292047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NEIE o1 fobelt WRA & forg Irou & fRua 82
Options :

1. * I[SRId

2. % PRTS

3. ¥ ISR

4. % fogR

Question Number : 22 Question Id : 7532292048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Burrakatha” is a regional music of which state?
Options :

1. ¥ Andhra Pradesh

2. % Kerala

3. % QOdisha



4. % Assam

Question Number : 22 Question Id : 7532292048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“TRIBUT 35 T 1 A1 it 2
Options :

1. ¥ Y TR

2. % B

3. % 3fif&n

4. % 3{HH

Question Number : 23 Question Id : 7532292049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an instrument of monetary policy used by RBI?

I. SLR
II. MSS
II1. Corridor

Options :

1. ®* Iand II

2. % Il and III
3. % land III

4. 1,11 and 11T

Question Number : 23 Question Id : 7532292049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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II. THUHUY.
1. HINSR

Options :

1. % 1dYT 1

2. ® 11 dUT I
3. % 1dYUT I
4.« 111 dYTIII

Question Number : 24 Question Id : 7532292050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding NNP?
Options :

1. # GNP + Depreciation

2. % GNP — Depreciation

3. % GDP + Depreciation

4. ¥ GDP — Depreciation

Question Number : 24 Question Id : 7532292050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, @1, @ & e # Fofifad 7 3 s @ adl g2
Options :

1. % ST + SN

2. ¢ ST - g™

3. % S SOl + geug™

4. % St SIUL - Geug™

Question Number : 25 Question Id : 7532292051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the atomic number of chlorine?
Options :

1.9 17

2. %19

3.% 15

4. % 13

Question Number : 25 Question Id : 7532292051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR B URHTY] ST {1 8ieT 82
Options :

1. ¥ 17

2.% 19

3. % 15

4. % 13

Question Number : 26 Question Id : 7532292052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many chambers are present in the heart of fish?
Options :

1. %3

2.% 4

3.2

4. % 1

Question Number : 26 Question Id : 7532292052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I3l & ged H fobd el Bl 82
Options :




1. %3
2.% 4
3.2
4. % 1

Question Number : 27 Question Id : 7532292053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Myopia can be corrected by using a convex lens of suitable power.
II. Hypermetropia can be corrected by using a concave lens of suitable power.

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¥ Neither I nor II

Question Number : 27 Question Id : 7532292053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o5 91 Hy= I8 82

1. e Te IUgad &dl & SUd a9 & SUINT gRT S=NTYd far ST 9 g |
I1. R-EMYA1 U Iugad &Hdl & fadd a9 P SUANT gRT SN faar S ebdr 8|
Options :

1. % $Had 1

2. % Had Il

3. % [ QYT gHl

4. GBI

Question Number : 28 Question Id : 7532292054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of fibre crop?
Options :

1. # Cotton

2. % Jute

3. % Hemp

4. ¥ Sugarcane

Question Number : 28 Question Id : 7532292054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed & 4 o U@ THR 31 SR HId T8l 87
Options :

1. # Uy

2. % 9

3. % 44

4. ¢ Tl

Question Number : 29 Question Id : 7532292055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following rivers make estuaries?
Options :

1. ¥ Narmada

2. % Mabhanadi

3. % Krishna

4. % Kaveri

Question Number : 29 Question Id : 7532292055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FrafaRad o 9 oF W ¢ SIReg@ &1 FEf Hdl 52
Options :

1. ¢ TJHar

2. % HGMdl

3. % W

4. % HIA

Question Number : 30 Question Id : 7532292056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the birth rate and the death rate of a country is called
Options :

1. ¥ Natural growth rate

2. % Population change

3. ¥ Migration rate

4. % Population composition

Question Number : 30 Question Id : 7532292056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 3 BT & &R 3R GG &R F S & R B HEd B!

Options :

1. ¢ UHia® 3ig o
2. % SEAT URadq
3. % Ja &R

4. ® ST JUcH

Question Number : 31 Question Id : 7532292057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Brahmo Samaj was founded by



Options :

1. # Dayanand Saraswati
2. ¥ Raja Rammohan Roy
3. ¥ Pandita Ramabai

4. # Tshwar Chandra Vidyasagar

Question Number : 31 Question Id : 7532292057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRIFAS & R fobar T o
Options :

1. ® TGS Il

2. ¢ Sl IHHATEA G

3. % Ufedr HErs

4. % R AR

Question Number : 32 Question Id : 7532292058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Haider and Tipu Sultan fought wars with British.
Options :

1.¥ 4

2.% 5

3.% 2

4. % 1

Question Number : 32 Question Id : 7532292058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8% YT Y Jed™ = SHUST o 1Y EERIGEI

Options :



1.¥ 4
2.% 5
3.%2
4. % 1

Question Number : 33 Question Id : 7532292059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who founded Aligarh Muslim University?
Options :

1. ¥ Sayyid Ahmed Khan

2. % Muhammad Ali Jinnah

3. ¥ Maulana Abul Kalam Azad

4. # Badrudin Tyabji

Question Number : 33 Question Id : 7532292059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3eiivTe Gy fayfaened ot RuTg1 fba- ot &
Options :

1. ¥ IS 3EHS Tl

2. % g 3rell fora

3. % UM A Hary 3MTlS

4. % JaPEH dgesl

Question Number : 34 Question Id : 7532292060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has been awarded 51st Dada-Saheb Phalke Award?
Options :

1. # Vinod Khanna



2. ¥ Rajinikanth
3. % Amitabh Bachchan
4. ¥ Akshay Kumar

Question Number : 34 Question Id : 7532292060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 ford 51 o TTeT A1ed Wiesh RIGR F THATH fowar T g2
Options :

1. % fadle @

2. ¢ TSHIebid

3. % A I

4. % Y PHR

Question Number : 35 Question Id : 7532292061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Headquarter of UNICEF is situated in
Options :

1. ¥ New York

2. % Geneva

3. *® Paris

4. % Vienna

Question Number : 35 Question Id : 7532292061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR R A REARI

Options :

1. ¢ i
2. % SHal



3. % Uiy
4. % fagmr

Question Number : 36 Question Id : 7532292062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 year old Virat Chandra has become youngest mountaineer in the world to scale mount Kilimanjaro. He belongs to which state of India?
Options :

1. ¥ Telangana

2. # Himachal Pradesh

3. % Karnataka

4. % Uttrakhand

Question Number : 36 Question Id : 7532292062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 9T & faRTe I1 f oo udd &R dg- a1dt g & ad gaT UadRIg! 949 78 g | 98 HIRd & fohd Id & I8 dTdl g2
Options :

1. ¥ T

2. % fgHTad U™

3. % BAICH

4. % IS

Question Number : 37 Question Id : 7532292063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to Uniform Civil Code for the citizents?
Options :

1. # Article 42

2. ¥ Article 44

3. # Article 40



4. % Article 46

Question Number : 37 Question Id : 7532292063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTT HfIUT BT B AT 36 AN & ford T Ja ffaa dfgar § Tefird g2
Options :

1. % 3w9G 42

2. ¥ 3G 44

3. % 3{Iw9G 40

4. % TG 46

Question Number : 38 Question Id : 7532292064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the impeachment of the President?
Options :

1. # Article 72

2. % Article 61

3. % Article 76

4. % Article 75

Question Number : 38 Question Id : 7532292064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HfAYTT o fob e Sfeda 1 Hefel APUfd TR HGIHHINT el b1 UfshaT 4 82
Options :

1. % 3Jwq 72

2. ¥ 3G 61

3. % 3G 76

4. % 3G 75



Question Number : 39 Question Id : 7532292065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is also called ‘Payyoli Express’?
Options :

1. # Hima Das

2. ¥ P.T. Usha

3. % Dutee Chand

4. % Kamaljeet Sandhu

Question Number : 39 Question Id : 7532292065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoaRaa o 3 ford ol Taau t FeT o 52
Options :

1. % femrem

2. ¢ UL B

3. % gdl g

4. % IS G

Question Number : 40 Question Id : 7532292066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the first winter Olympic was held?
Options :

1. ¥ 1924

2. % 1928

3. % 1932

4. % 1936

Question Number : 40 Question Id : 7532292066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ygdn HfiaeTeli= sicifte frg o smafora fasan mar ute
Options :
1. ¥ 1924
2. % 1928
3. % 1932
4, % 1936

Arithmetic Ability

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
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Group Marks :
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0
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Arithmetic Ability
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Sub-Section Id : 753229136
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532292067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2/3 of 2/5 of 2/7 of a number is equal to 400, then what is the value of the number?
Options :

1. ¥ 5250

2. % 1050

3. % 4570

4. % 3640

Question Number : 41 Question Id : 7532292067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T BT & 2/7 & 2/5 BT 2/3, 400 & SRISR 5, 1 T BT HMH T 572
Options :

1. ¥ 5250

2. % 1050

3. % 4570

4. % 3640

Question Number : 42 Question Id : 7532292068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of (2004)% — (2000)%?
Options :

1. ¥ 16016

2. % 16012

3. % 16008

4. % 16020



Question Number : 42 Question Id : 7532292068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(2004)2 — (2000)2 ST A T 82
Options :

1. ¥ 16016

2. % 16012

3. # 16008

4. * 16020

Question Number : 43 Question Id : 7532292069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference of the largest three digit number and the smallest two digit number?
Options :

1. * 990

2. ¥ 989

3. % 988

4. % 900

Question Number : 43 Question Id : 7532292069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dH 3l Bt T TSt T/ JYUT T 3fh &1 T DI T-AT BT 3R T 82
Options :

1. # 990

2. ¥ 989

3. # 988

4. * 900




Question Number : 44 Question Id : 7532292070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of
12°-5°-7
840
Options :
1. %25
2.¥ 1.5
3.% 1.2
4. % 2

Question Number : 44 Question Id : 7532292070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g o
840
caRs e K
Options :
1. * 25
2.9 1.5
3.% 1.2
4. % 2

Question Number : 45 Question Id : 7532292071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy added all natural numbers from 1 to 10, however he added one number twice due to which the sum became 61. What is that number which
he added twice?

Options :
1.¥6



2. %2
3. %
4. % 4

Question Number : 45 Question Id : 7532292071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U dSd A 1 9 10 AP B} TH Uil TS Bl Siiel dfch 3T T T-A Dl &l IR SIS a1 oy BRI AN 61 Bl 77| 98 SRS 1
2 o) ST S TR SiieT 22

Options :

1.¥6

2. %)

3. %

4. % 4

Question Number : 46 Question Id : 7532292072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the average of 20, 24, 23, 19, P and Q is 25, then what is the average of P and Q?
Options :

1. # 31

2. % 37

3.4 32

4. % 35

Question Number : 46 Question Id : 7532292072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 20, 24, 23, 19, P TUT Q BT 3T 25 §, Al P TUT Q HT 3Td &1 g2
Options :

1. #= 31

2. % 37



3.9 32
4, % 35

Question Number : 47 Question Id : 7532292073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a circle is decreased by 10 percent, then what will be the percentage decrease in the area of circle?
Options :

1. # 20 percent

2. ¥ 19 percent

3. % 21 percent

4. % 22 percent

Question Number : 47 Question Id : 7532292073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o7 U g 1 BT & 10 TR 1 HH Y S 2, A 9 F At § e vl ) e @y
Options :

1. % 20 Yfd=rd

2. ¥ 19 Yfd=rd

3. % 21 gfdwrd

4. % 22 Yid=rd

Question Number : 48 Question Id : 7532292074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which number is 25 percent less than the 25 percent of 5007
Options :

1. % 83.25

2.9 9375

3. % 87.25



4. * 96.50

Question Number : 48 Question Id : 7532292074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIF T T 500 P 25 U= I 25 WA HH 82
Options :

1. * 83.25

2.9¥9375

3. % 87.25

4. % 96.50

Question Number : 49 Question Id : 7532292075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is bought for Rs. 880 and is sold at 30 percent loss. What is the selling price of the article?
Options :

1. ¥ Rs. 616

2. % Rs. 726

3. % Rs. 656

4. % Rs. 608

Question Number : 49 Question Id : 7532292075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS a%g b1 880 TUY T WRIGT ST § TUT 30 UFI=Id Bt g1 UR 1 STl § | g 7 fashal Hed o1 82
Options :

1.¥ 61630

2. % 726300

3. % 656 30U

4. % 608 3T



Question Number : 50 Question Id : 7532292076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 10 percent of A is equal to 40 percent of B, then what is the value of A : B?
Options :

1.¥4:1
2.% 1:4
3.%5:1
4. % 1:5

Question Number : 50 Question Id : 7532292076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A BT 10 UFARIG, B 9 40 UfARId & SRIER 6, AT A : BT §?
Options :

1.¥4:1
2.% 1:4
3.%5:1
4. % 1:5

Question Number : 51 Question Id : 7532292077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of P, Q and R is 6 : 5 : 9 respectively. If their sum is 400, then what is the difference between P and R?
Options :

1. * 100

2. ¥ 60

3. % 80

4. % 170

Question Number : 51 Question Id : 7532292077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q YT R T 3JUT HHTT: 6 : 5 : 9 B | TS IHT TNT 400 B, AN P TUT R F o171 3R a1 &2
Options :

1. # 100

2.¥ 60

3. % 80

4. % 70

Question Number : 52 Question Id : 7532292078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 5600 is invested in a scheme of simple interest. It becomes Rs. 7000 in 5 years. How much will this sum become in 4 years?
Options :

1. % Rs. 6240

2. % Rs. 7800

3. ¥ Rs. 6720

4. % Rs. 6700

Question Number : 52 Question Id : 7532292078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5600 TYY DI T AT BT YR ST Pt U Ao H (3% frar mar g1 5 98 & I8 7000 T9 81 St 81 4 a8 H T8 1 fpait 81 st
Options :

1. % 6240 30

2. % 7800 TYY

3. ¢ 6720 39T

4. % 6700 0

Question Number : 53 Question Id : 7532292079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The speed of a bus is 36 km/hr. What will be the distance covered by the bus in 15 seconds?
Options :

1. ¥ 150 metres

2. % 200 metres

3. % 300 metres

4. % 250 metres

Question Number : 53 Question Id : 7532292079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §9 &1 1M 36 fH. M /AT 81 15 Ydhe T o GRI AT B T3 gl 1 g
Options :

1. ¥ 150 HicR

2. % 200 HIcY

3. % 300 HIR

4. % 250 Hicx

Question Number : 54 Question Id : 7532292080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car is moving at the speed of 45 km/hr covers a certain distance in 4 hours. If the same distance is to be covered in 6 hours, then what will be
the speed of the car?

Options :

1. ¥ 24 km/hr
2. % 30 km/hr
3. # 40 km/hr
4. % 36 km/hr

Question Number : 54 Question Id : 7532292080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THh R 45 [ . der &1 1§ Iad gU T Fid gl &1 4 69 T 70 Ixcll o | afe THH g3l 6 8¢ T T &1 S 81, o R &1 T1fd a1 g




Options :

1. % 24 fob #1./der
2. ¢ 30 fb i der
3. % 40 fo Y der
4. % 36 fop 0t e

Question Number : 55 Question Id : 7532292081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B and C alone can complete a work in 5 days and 15 days respectively. They began the work together but B left the work after some days and C
completed the remaining work alone in 3 days. After how many days from the beginning B left the work?

Options :

1. # 5 days
2. # 4 days
3. % 1.5 days
4. ¥ 3 days

Question Number : 55 Question Id : 7532292081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B IUT C 3D Uh B DI HHTT: 5 &7 a7 15 TG T R R Tobd & | 3811 1Y T B ARY ol R $© & & Uy B A &1 Bis faa
TUT AT B € 7 3fahal 3 fe J g1 = fean | uRY 3 fhan 39 & a1 B A &1 Bis1 U

Options :

1. % sfeq

2. % 4feF

3. % 15feq

4. 3fea

Question Number : 56 Question Id : 7532292082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Length of the diagonal of a square is 40 cm. What is the area of this square?



Options :
| % 40042 cm?

2. % 1600 cm?
3. % 800 cm?
4. % 400 cm?

Question Number : 56 Question Id : 7532292082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s 97 P ol ot dars 40 9. g1 ¥ T @ d T 82

Options :

400~/2 T. 72

2. % 1600 .10 2
3.+ 800 9. HI.2
4. % 400 QA2

Question Number : 57 Question Id : 7532292083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of a cuboid is thrice of its height. Breadth of cuboid is half of the sum of its height and length. If five times of the breadth is equal to 100
cm, then what is the total surface area of the cuboid?

Options :

1. ® 900 cm?
2. % 1800 cm?
3. % 1100 cm?
4. ¥ 2200 cm?



Question Number : 57 Question Id : 7532292083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GTH B GaTs IUD! $HATg DI I AT & | T TH B AI5T8 IUBH! SHdTs adl GaTs & INT &1 3l g, IS TNeTe ol uid A1 100 9., &
IR g, A ITH BT Hd Y¥IT 8% d 1 82

Options :

1. % 900 9.41.2

2. % 1800 .42

3. % 1100 9.1 .2

4.+ 2200 9.0} 2

Question Number : 58 Question Id : 7532292084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of calculators sold by eight companies in a year.

Company | Number of calculators
400
350
300
600
800
1000
700
500

TGO 0w e

Which of the following statement is correct?
I. The average number of calculator sold by A, C and H are 400.
II. The ratio of number of calculator sold by D to the number of calculator sold by F is 5 : 3.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII



4. % Neither [ nor 11

Question Number : 58 Question Id : 7532292084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 72 arfereT U 9 § 3118 Hufal gRT o T e e bl Ul &l G g |

heTsheleT < wEaT
400
350
300
600
800
1000
700
500

mmmenm;v-%

frafafed & I &9 91 S 98l 82

I A, C 4T H §RT 59 T g eiex Bt SIRId AT 400 B

1. D §RT & 7T A elex B U HT F GRT o9 7T hagp e & Uel I 3U 5 : 3 5
Options :

1.« Had 1
2. % HAdII
3. % [ UGl
4. % qEIIATR I

Question Number : 59 Question Id : 7532292085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the production of tea and coffee in different states.
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What is the average production of tea and coffee in state S2?
Options :
1. ® 65.5
2.9 625
3. % 64.5
4. % 825

Question Number : 59 Question Id : 7532292085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I e rar Rar fom faftre T4l § 9 3R Sl & IdTe &l <xiiar gl
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Options :
1. % 65.5
2.9¥ 62.5
3. % 64.5
4. % 825

Question Number : 60 Question Id : 7532292086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of male teachers and female teachers in different school.
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J1 = The average number of male teachers per school
J2 = The difference between total male teachers and female teachers
What is the value of (J1/J2)?

Options :
1. %3
2.2
3. % 4
4. % 1

Question Number : 60 Question Id : 7532292086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 feam o g us fo fafie woal o g et aur Afean et @t e & g=ifdr 2|



100

70

50
40

45
30 2 35
20
1" -“
A B D E F G

C
(9w e @ AfEer Qe

11 =9 T d g3y Rig! @ Sfird Je
12 = $d GV Rig! qu1 $o Afgel gl & oia &1 3R

(J1/J2) BT A &1 g2
Options :
1. %3
2.2
3. % 4
4. % 1
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Sub-Section Number : 1

Sub-Section Id : 753229137

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532292087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Data in this study were(1)/ provided by collaborators (2)/ representing six countries (3)/. No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 61 Question Id : 7532292087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Data in this study were(1)/ provided by collaborators (2)/ representing six countries (3)/. No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 62 Question Id : 7532292088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Companies should be more transparent (1)/ about what their harassment policy (2)/mean and how they apply it in practice (3)/. No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 7532292088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Companies should be more transparent (1)/ about what their harassment policy (2)/mean and how they apply it in practice (3)/. No error (4)
Options :

1. #* 1

2.% 2

3.3

4. % 4

Question Number : 63 Question Id : 7532292089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

To average, we received almost a dozen stories a day.
Options :

1. # In average

2. % On an average

3. # By average

4. ¥ No improvement

Question Number : 63 Question Id : 7532292089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

To average, we received almost a dozen stories a day.
Options :

1. # In average

2. % On an average

3. # By average

4. % No improvement

Question Number : 64 Question Id : 7532292090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The man had a gun with either him or he was being foolish.
Options :

1. % has either a gun with him



2. ¥ either had a gun with him
3. % had a gun either with him

4. ¥ No improvement

Question Number : 64 Question Id : 7532292090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The man had a gun with either him or he was being foolish.
Options :

1. ® has either a gun with him

2. % either had a gun with him

3. % had a gun either with him

4. % No improvement

Question Number : 65 Question Id : 7532292091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In summers, cotton clothes are more comfortable.
Options :

1. # losing

2. # lose

3. % loose

4. * lost

Question Number : 65 Question Id : 7532292091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



In summers, cotton clothes are more comfortable.
Options :

1. * losing

2. % lose

3. % loose

4. * Jost

Question Number : 66 Question Id : 7532292092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

You better be right if you want handcuffs out from your hands.
Options :

1. * such

2. % those

3. * that

4. ¥ these

Question Number : 66 Question Id : 7532292092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

You better be right if you want handcuffs out from your hands.
Options :

1. #* such

2. % those

3. # that

4. ¥ these

Question Number : 67 Question Id : 7532292093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

During the Classical period

P: Classical oratorical Latin, and the ordinary colloquial
Q: there were at least three types of Latin

R: in use: Classical written Latin,

S: Latin used by the average speaker of the language

Options :

1. ¥ SPQR
2. % QSPR
3. % RPSQ
4. ¥ QRPS

Question Number : 67 Question Id : 7532292093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

During the Classical period

P: Classical oratorical Latin, and the ordinary colloquial
Q: there were at least three types of Latin

R: in use: Classical written Latin,

S: Latin used by the average speaker of the language

Options :

1. # SPQR
2. % QSPR
3. ¥ RPSQ
4. ¥ QRPS

Question Number : 68 Question Id : 7532292094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.



P: except the right to vote in the assemblies

Q: in the beginning, the patricians were supposed
R: to have enjoyed a monopoly of power ,

S: whereas the plebeians began with nothing

Options :

1. # SRQP
2. % QSRP
3. % SPQR
4. ¥ QRSP

Question Number : 68 Question Id : 7532292094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: except the right to vote in the assemblies

Q: in the beginning, the patricians were supposed
R: to have enjoyed a monopoly of power ,

S: whereas the plebeians began with nothing

Options :

1. # SRQP
2. % QSRP
3. % SPQR
4. ¥ QRSP

Question Number : 69 Question Id : 7532292095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Result
Options :

1. % Derision



2. # Dissipate
3. % Outcome
4. # Obey

Question Number : 69 Question Id : 7532292095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Result
Options :

1. # Derision
2. % Dissipate
3. % Outcome
4. % Obey

Question Number : 70 Question Id : 7532292096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Fallible
Options :

1. # Errant

2. ¥ Impeccable
3. % Amoral

4. # Vapid

Question Number : 70 Question Id : 7532292096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Fallible
Options :

1. # Errant

2. ¥ Impeccable
3. % Amoral

4. # Vapid

Question Number : 71 Question Id : 7532292097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Medeival

2. # Mideival

3. ¥ Midieval

4. ¥ Medieval

Question Number : 71 Question Id : 7532292097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Medeival

2. % Mideival

3. % Midieval

4. ¥ Medieval

Question Number : 72 Question Id : 7532292098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. # Asistance
2. % Assistance
3. # Assistence

4. % Asistense

Question Number : 72 Question Id : 7532292098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Asistance

2. ¥ Assistance

3. % Assistence

4. % Asistense

Question Number : 73 Question Id : 7532292099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

God’s ape

Options :

1. # The first creation of god
2. % A mystical soul

3. % To intimidate someone
4. ¥ A born fool

Question Number : 73 Question Id : 7532292099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

God’s ape



Options :

1. # The first creation of god
2. % A mystical soul

3. % To intimidate someone
4. ¥ A born fool

Question Number : 74 Question Id : 7532292100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Between whiles

Options :

1. # To sacrifice for a cause

2. # Hynpotised and controlled

3. % To spend an amount of time idly

4. # An offer of peace

Question Number : 74 Question Id : 7532292100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Between whiles

Options :

1. # To sacrifice for a cause

2. % Hynpotised and controlled

3. ¥ To spend an amount of time idly

4. % An offer of peace

Question Number : 75 Question Id : 7532292101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.

A combination of incongruous words
Options :

1. # Irony

2. % Hyperbole

3. % Oxymoron

4. % Sarcasm

Question Number : 75 Question Id : 7532292101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A combination of incongruous words
Options :

1. # Trony

2. % Hyperbole

3. ¥ Oxymoron

4, % Sarcasm

Sub-Section Number : 2
Sub-Section Id : 753229138
Question Shuffling Allowed : Yes

Question Id : 7532292102 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Mental hygiene is the science of maintaining mental health and preventing the development of psychosis, neurosis, or other mental disorders.
Since the founding of the United Nations, the concepts of mental health and hygiene have achieved international acceptance. As defined in the
1946 constitution of the World Health Organization, “health is a state of complete physical, mental, and social well-being, and not merely the
absence of disease or infirmity.” The term mental health represents a variety of human aspirations: rehabilitation of the mentally disturbed,
prevention of mental disorder, reduction of tension in a stressful world, and attainment of a state of well-being in which the individual functions



at a level consistent with his or her mental potential.

As noted by the World Federation for Mental Health, the concept of optimum mental health refers not to an absolute or ideal state but to the best
possible state insofar as circumstances are alterable. Mental health is regarded as a condition of the individual, relative to the capacities and
social-environmental context of that person. Mental hygiene includes all measures taken to promote and to preserve mental health. Community
mental health refers to the extent to which the organization and functioning of the community determines, or is conducive to, the mental health of
its members.

Throughout the ages, the mentally disturbed have been viewed with a mixture of fear and revulsion. Their fate generally has been one of
rejection, neglect, and ill-treatment. Though in ancient medical writings there are references to the mental disturbance that display views very
similar to modern humane attitudes, interspersed in the same literature are instances of socially sanctioned cruelty based upon the belief that
mental disorders have supernatural origins such as demonic possession. Even reformers sometimes used harsh methods of treatment; for
example, the 18th-century American physician Benjamin Rush endorsed the practice of restraining mental patients with his notorious
“tranquilizing chair.” The purpose of the tranquillizing chair was to control the flow of "infected" blood to the brain in order to cure the patient of
insanity. And still, a follow up is required on this technique.

Sub questions

Question Number : 76 Question Id : 7532292103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the given passage?
Options :

1. ¥ To give a brief view on mental hygiene

2. % To analyze the complexities of mental hygiene
3. # To describe the effects of mental anxiety

4. % To criticize the notorious treatments of mental disorder

Question Number : 77 Question Id : 7532292104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has called mental health as a state of social well-being?
Options :

1. # World Federation for Mental Health

2. % World Health Organization

3. ¥ American physician ‘Benjamin Rush’

4. % United Nations



Question Number : 78 Question Id : 7532292105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the antonym of the word ‘conducive’?
Options :

1. # Damaging

2. ¥ Facilitate

3. * Injurious

4. % Bad

Question Number : 79 Question Id : 7532292106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of the “tranquilizing chair” as per the given passage?
Options :

1. ¥ To control the flow of infected blood to the brain.

2. % To cure the patient suffering from anxiety.

3. # To motivate the patient to fight his battles a life.

4. % To endorse the practice of restraining mental patients.

Question Number : 80 Question Id : 7532292107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word ‘neglect’?
Options :

1. # Repair

2. ¥ Avoid

3. # Preserve

4. % Absolute

Question Id : 7532292102 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



Read the following information carefully and answer the given questions.

Mental hygiene is the science of maintaining mental health and preventing the development of psychosis, neurosis, or other mental disorders.
Since the founding of the United Nations, the concepts of mental health and hygiene have achieved international acceptance. As defined in the
1946 constitution of the World Health Organization, “health is a state of complete physical, mental, and social well-being, and not merely the
absence of disease or infirmity.” The term mental health represents a variety of human aspirations: rehabilitation of the mentally disturbed,
prevention of mental disorder, reduction of tension in a stressful world, and attainment of a state of well-being in which the individual functions
at a level consistent with his or her mental potential.

As noted by the World Federation for Mental Health, the concept of optimum mental health refers not to an absolute or ideal state but to the best
possible state insofar as circumstances are alterable. Mental health is regarded as a condition of the individual, relative to the capacities and
social-environmental context of that person. Mental hygiene includes all measures taken to promote and to preserve mental health. Community
mental health refers to the extent to which the organization and functioning of the community determines, or is conducive to, the mental health of
its members.

Throughout the ages, the mentally disturbed have been viewed with a mixture of fear and revulsion. Their fate generally has been one of
rejection, neglect, and ill-treatment. Though in ancient medical writings there are references to the mental disturbance that display views very
similar to modern humane attitudes, interspersed in the same literature are instances of socially sanctioned cruelty based upon the belief that
mental disorders have supernatural origins such as demonic possession. Even reformers sometimes used harsh methods of treatment; for
example, the 18th-century American physician Benjamin Rush endorsed the practice of restraining mental patients with his notorious
“tranquilizing chair.” The purpose of the tranquillizing chair was to control the flow of "infected" blood to the brain in order to cure the patient of
insanity. And still, a follow up is required on this technique.

Sub questions

Question Number : 76 Question Id : 7532292103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the given passage?
Options :

1. ¥ To give a brief view on mental hygiene

2. % To analyze the complexities of mental hygiene
3. # To describe the effects of mental anxiety

4. % To criticize the notorious treatments of mental disorder

Question Number : 77 Question Id : 7532292104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following has called mental health as a state of social well-being?
Options :



1. ® World Federation for Mental Health
2. ¥ World Health Organization

3. # American physician ‘Benjamin Rush’
4. ® United Nations

Question Number : 78 Question Id : 7532292105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the antonym of the word ‘conducive’?
Options :

1. ¥ Damaging

2. ¥ Facilitate

3. # Injurious

4. % Bad

Question Number : 79 Question Id : 7532292106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of the “tranquilizing chair” as per the given passage?
Options :

1. ¥ To control the flow of infected blood to the brain.

2. # To cure the patient suffering from anxiety.

3. % To motivate the patient to fight his battles a life.

4. # To endorse the practice of restraining mental patients.

Question Number : 80 Question Id : 7532292107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word ‘neglect’?
Options :

1. ¥ Repair

2. ¥ Avoid

3. ¥ Preserve



4. % Absolute
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Question Number : 81 Question Id : 7532292108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % &b, TqTY
2. % W} 9%
3. ¢ 3R

4. % Had, db

Question Number : 81 Question Id : 7532292108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o 9 fawanfeslys sicqd &1 g Hiforu|
Options :

1. % &, Ty

2. % i db

3. 3R

4. % had, db

Question Number : 82 Question Id : 7532292109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o & I F1d fH Rl
Ig 981 T ¢, o 9 el et gt i

Options :

1. % fara® 9dmH
2. ® QEYIEad qa-H
3. « GeYarad Fa-TH
4. % YYArIPH TITH

Question Number : 82 Question Id : 7532292109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fau v g9 ® gdH F1d fHR|
g I8 I &, o g e} iy et o

Options :

1. ® fSara® 949
2. % QEYIEa®d qa-H
3. « HeYarad Fa-Td
4. % QT GITH

Question Number : 83 Question Id : 7532292110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 71U <Teal BT HET doiH-chad J1d Bifer |
Options :

1. % HEAIC-dR

2. ¢ 3{&dic-3drsT

3. % JETSI-3HalT

4. % fdTc-3faic

Question Number : 83 Question Id : 7532292110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T 2reg} 1 HE TH- e 1A BT
Options :

1. % 3{&dIc-drTy]

2. ¥ J&dIC-3dls]

3. % 3RATSI-3HefT

4. % 3fafarc-sfafe

Question Number : 84 Question Id : 7532292111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Woc g 1 el Wsg i 1 BT

dq . dq
Options :
1. % WIS : ST
2. ¢ TOIga] : SiTTd
3. ”Wayl_s'
4, WWW

Question Number : 84 Question Id : 7532292111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faT TTQ eq ™ 1 WET Weq I F1d BT

dq:4d4
Options :

Question Number : 85 Question Id : 7532292112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faehH s F1d FIfTI

S{&ld
Options :
1. ¢ faard
2. % H&d
3. % q&H



4. % 39

Question Number : 85 Question Id : 7532292112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 77T Wrec; &1 faeliA Weg T BT

&
Options :
1. ¢ faerd
2. % Hq&d
3. % H&H
4. % 3¢

Question Number : 86 Question Id : 7532292113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U <req T H1 T Xsa FH I DI

U : MUY
Options :

1. % IErH : HdH
2. ¢ IdH : Raol
3. % g : 3 W
4. % IGMNH : AW

Question Number : 86 Question Id : 7532292113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I : HdH
2. JWQ@W
3. % g : 3 W
4. % IGMNH : 34

Question Number : 87 Question Id : 7532292114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areaiw & fou I Weg &1 I S|
S MNP B ARG A 8l

Options :

1. % QDAY
2. ¢ 3D
3. % Jfgfid
4. % 3R

Question Number : 87 Question Id : 7532292114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRaa areair & foru IRId Wsg &1 994 iU
Sl JMep B ARG T8l

Options :

1. % M-
2. ¥ 3RND
3. % Sfffed
4. % 3R

Question Number : 88 Question Id : 7532292115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
faq 7T areR 1 gef J1d BifTT

o7 AhAdT T ol g |
Options :

1. ® 31quf g
2.« Ul g

3. % AUy

4. % 3l g

Question Number : 88 Question Id : 7532292115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT TTq g1eRy BT Y&t I1d BT

2T Y GO oraT OT ot B
Options :

1. % 37qUf ugf
2.« quf Ugg

3. % g U

4. % 3l g

Question Number : 89 Question Id : 7532292116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad arel O @ Tgad a1 B

Options :

1. % SIRGR YT §Id 81 il H HIIGs 7 TS|

2. % S Bl SR BT YHTHT 3T 3 81 ANl H WiTes e TS|
3. ¢ SIRGR YHIHT 3T 3R AN § WS Ha TS |

4. % Sq YHIHT g3 Ol AN § TGS Fd TS|




Question Number : 89 Question Id : 7532292116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad arel # 9 Tyger arer J1d Sife|

Options :

1. % SIRGR YHIHT 8Id 81 AN & WS Ha s |

2. % O B IR BT YHTHT 371 a9 &1 A # WiTeS Ha T8 |
3. ¢ SIRGR YHTHT g3 3R A # WiTes Ao T3 |

4. % G§ YHIDT G A AN H HIGS AL T3 |

Question Number : 90 Question Id : 7532292117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa aredl & 4 iyl are ra Siforg

Options :

1. % 98 a9 HHGIR oI, fhr ot 39 Tad Sa1a1 14 fohar|

2. % U HHGR 8- IR W 397 T wa1a1 H1H |

3. ¢ U 98 Yo HHR YT 9T I e WG] ST bl
4. % I8 YU HHR YT 3R 5 oft 397 Iad e » |

Question Number : 90 Question Id : 7532292117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrafifea aradl 4 Ry area 3 SR

Options :

1. % 98 G HHVR U1, TR 4l 3T Tad 11 1 foha |

2. % FY HHAR gH IR HI I T re1 HH |

3. ¢ T 98 Gad HHUIR YT AU I Feil el HrH foba |
4. % 95 I HHGR YT 3R B f 39 9ad 181 & o]



Question Number : 91 Question Id : 7532292118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77T <reg; 1 AT I BT
&t

Options :

1. % gffari
2. % &AT

3. % &t

4. &N

Question Number : 91 Question Id : 7532292118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7TQ 2reg 1 WA I BT
&t

Options :

1. % &gt
2. % &AT

3. % &t

4. &ATOR

Question Number : 92 Question Id : 7532292119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U ot | Ty forme g &1 SUaiT fhan S S9! Ugad Sifvg|

CIRGCER K]
Options :
1. =

b




2.¥ |

3. 0% _

4 2-'\5 [

Question Number : 92 Question Id : 7532292119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou e a1 | forg fovm foig &1 Iua fosan S S9! U< oifoig|

GRS
Options :
1. % ;

2.¥ |

3. 0% _

4 2-'\5 [

Question Number : 93 Question Id : 7532292120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferw T arer & o o forg &1 IuaiiT fasam SiTe Iwes! uga S|
3{Y g S g1 T

Options :
1. ¥
2. %
3. % |
4. W

Question Number : 93 Question Id : 7532292120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T a19 # g fav ”Ig &1 SUdT {1 Sei S9& ! Ugd HIvig|




3{X 98 Sfi g1 T
Options :

1. ¥

2. %

3. % |

4. 8 _

Question Number : 94 Question Id : 7532292121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 7997 & S fou U geTak & 31 ol Ia9% U § oJad Rl g |

TS 131 W GIH! gl
Options :

1. % g faarR d gg-r

2. ¢ Gl & Y JHH HdgR
3. % g H Bl

4. % §AHPH M

Question Number : 94 Question Id : 7532292121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 3 ol Ia9% U I oJad HRdl ¢ |

TS 13! A GIH! glbl
Options :

1. % O foarR # gg

2. ¢ it & 1Y JHH AR
3. % A A

4, % ddpH T




Question Number : 95 Question Id : 7532292122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 3 ol Ia9% U I oJad HRdl ¢ |
STeX B IS I

Options :
1. % §gd Sgdl gl
2. ¢ QUIad BI Ig g

3. % §gd HaQ Bl
4. % SEAd GBI

Question Number : 95 Question Id : 7532292122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 7997 & S fou U geTak & 31 ol Yd9% U § ogad Rl g |
e} 1 Yf$TT Il

Options :

1. % §gd STedidl gl

2. ¢ THlEd &1 &8 B

3. % dgd Hag dXI

4. % Sgd GBI

Sub-Section Number : 2

Sub-Section Id : 753229140
Question Shuffling Allowed : Yes

Question Id : 7532292123 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TR e 71 8 | TTRIiRT b SR WR Gid Uy AU TN § | TRIi=1 & SA-gdes U adT Udid Uy H IR fdsed! O 9 9@ fadwed |



YR T U G 8, TS A o SR YR TIAT AHT 5 TR a4 QR 8, S0 39DT 991 YT 9gd GRAT 3R Sifed upfd
®1¢| AT St ! diF JaHd TIRIH AT § — HIoH, T 3R HTART | UYe Ui, Tes avd T ATh-JRT AN T4 B BIAEHT
T4 St &1 YaTe ¥ 0 I Fichg T & ol gAdH U aie-1 ATaaHhdTy g [aadr i § aRfiieo &1 g g | sienfieie o & foraa
ot 31T B, 9 A=A WR R €, Afe 377 TRIAT &1 Sriemdl &1 SR T 3idl 3% d a=neil & [aem & fag yfie! &1 dqferd ud
TfY® 3ATER IRR e &I Uaied HET a¥d 3R Wi smuersit § QR [a- & ot Treae 1 & Iudisd Fdrd awed §
QAfh SfeiTes TTidl 3 S1G 3TST STEehT & SHTaTRT o) STaRT 3=t Tel & | I Tic Sl # €} Te1 Usar g | 3fd: gad g & Tiet sk
1 TN S ST X8 5 | S8 PRUIGIIH A TR D1 Sita SR FHEATS BT fARIY b HHT 8 | SfufIyry 3R Fearnadl gAR o= Bl
YIS TSI TR g | fRI&T SR e ot g wies Ao THrd 81 379 §9R1 A @ Sifge 9™ g1 8 IR 7 IRIRG
3T T YUPTIR HR ST &1 YaY Fa! ATHIIw THT §, S HIe 4, BTl TR, JaI-Whifd, He s e 96 $8 YFHER &I oS 9 g
SEIF %;gmggéﬁdlq 3R YTS YITSTaTE SHRT ATHTG TS B 16 ¢ | 59 IR &1 AHIodh TSNS & HRUI g D
forHaT Sga o |

Sub questions

Question Number : 96 Question Id : 7532292124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR JAT TTH fam ad qRIT /2
Options :

1. % 2gOR Y

2. % | gOR Y

3. % 3EORIY

4. ¥ 5BIAR TY

Question Number : 97 Question Id : 7532292125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A4 Sfia Bt framt Hayd e g2
Options :

1. % U

2. A

3. % IR

4. %3




Question Number : 98 Question Id : 7532292126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR SR B1 DI I HIDHR AHTIOD TR 62
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Fear

2. SfYfdyr

3. plcll Y4

4. 3nfeafire gafa

Question Number : 99 Question Id : 7532292127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHH U BT G 62
Options :

1. % Sfeared

2. % Sifdarg

3. ¢ TR0

4. ® YRR

Question Number : 100 Question Id : 7532292128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR HT IUGed NS 1 g2

Options :

1. ¢ TSI JHEY
2. % oI-Thifd

3. % TThidd Yag



4. % ORIy &g

Question Id : 7532292123 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TR e 7T 8 | TTRIRT o SR WR Gid Uy AU TN § | TRIi=T & e4-gdes U T Ul Uy H IR fdsed! O 9 9@ fadwed |

URT T YT &1 §, $S SFAM b SFHR HRel T Tl T 5 TR 98 QR 8, SHIerd gep1 et +f g QT 3R wifed gpfd
®1 ¢ | AT St ! - JaHd HTIRIH AT § — HIoH, T 3R HTART | Tde Ui, Wes avd T ATh-JURT AN A4 B BIRAGHT
Qa’\quﬁgdl{«@qﬁﬂmwﬁ$%ﬁ«@w—|®qlmlu31|q4qqod|k%|qd4-||=|§ﬂﬁmﬁ'—ﬂm$r HEICINCICRUE ASGE]
ot s 8, 98 IRIF R AR ©, @msqmﬂ:ﬁﬁaﬁrﬁmﬁmwﬁawwmah$ﬁ$méﬁmmaﬂﬂqﬁmm
QY 3MER IR ge- P T AT a¥d 3R Whidd Muersll § QRT3+ & i Wrege a & Iudisd Fdr ST §
a1 SiENfYeh Tl o ST et Aol o SMTaTd T T Sl el § | 3% Tiell Ifral €1 g1 Ugell ¢ | Sfef: Tt 1 & i} sfeat
ﬁwaﬂ‘cﬂw@%ls@wwlslwﬁﬂwﬁ Sfa aﬁ?Hleaﬁmﬁﬁw% ﬂﬁT%l&r%rﬁ%msﬁﬂalcadllqmsHR%QTaﬁ
YIHR IS THET ¢ | 31fRref SR fefar off gaRT e amToie gawm €1 39 GHNI T A Afgd GHr 8T § 3R 7 IRING
faeTa 11 YPTIR §HR S 1 T TS| TSI TJHET 8, S HTall ¢, Tl SIS, GI-Thifd, HES e 96 $© YPHR B ol I g
SEIK] %l@ggﬂdlq 3R Wi vfioTaTe gER AHRTe Hleaﬁﬁﬂ'cg%l = UbR B TS GHEIS & SR & GRS
fysTar sgdt o

Sub questions

Question Number : 96 Question Id : 7532292124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR JAT TTHT fra adf QR /2
Options :

1. % 2 IR Y

2. % | gORTY

3. % 3gORIY

4. ¥ 5EAR TN

Question Number : 97 Question Id : 7532292125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A4 Sitad &1 fd-t ayd STaRaHhdTd g2
Options :
1. % U=
2. ¥ A
3. % TR

4. %G

Question Number : 98 Question Id : 7532292126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR SR B D T HIHR YTHTOD TH g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Fear

2. SfYfdyr

3. Pl Y4

4. 3nfeafire gafa

Question Number : 99 Question Id : 7532292127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JHH U BT G 62

Options :

1. % Sfeared

2. % Wfddrg

3. ¢ ARIABT

4, % YPR

Question Number : 100 Question Id : 7532292128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ST TR BT IUgad MNP FT G
Options :

1. ¢ TS JHEY

2. % oI Thifd

3. % YTl MUSY

4. % ORP &g

Disciplinel
Group Number : 6
Group Id : 753229116
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 753229116
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 753229141
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532292129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following government encouraged business interests in France?
Options :

1. ¥ The constitutional monarchy

2. # The June Monarchy

3. % Monarchy of Louis XVI

4. ¥ The democratic monarchy

Question Number : 101 Question Id : 7532292129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied # 9 foord TRHR A Wi | Ui f3dl &l wieted fasar ur
Options :

1. ¥ HaYT® Iora

2. % G ldA

3. % T8 XVI B ol

4. % QbdaAY Ao

Question Number : 102 Question Id : 7532292130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vallabhbhai Patel’s Satyagraha was against the enhancement of land revenue in 1928.
Options :

1. # Champaran

2. % Kheda

3. % Awadh

4, ¥ Bardoli



Question Number : 102 Question Id : 7532292130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JEAHHR UCA ®I  TAFIE 1928 H IoRd H gfg o fawg Tl
Options :

1. % JORUT

2. % Qe

3. % 3{dY

4. ¢ SRSIA

Question Number : 103 Question Id : 7532292131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct about the Telangana Peasant Movement?

I. It was started under the leadership of the Communist Party of India.
II. It began in 1942 and ended in 1951.

Options :

1. % OnlyI

2.9 Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 103 Question Id : 7532292131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT fpam 3iigiem & JeH H fFafafad # @ & 91 Hy= 98t T8l 82

. 3P YT URA Pt SR el & Aga J gs |
I1. 98 1942 ¥ Y& g3 3R 1951 T JH 31T T
Options :

1. % BHad |




2. ¥ Had I
3, % [qUTII Sl
4. % qIEIAIB I

Question Number : 104 Question Id : 7532292132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The of Paris was a decree which abolished the guilds and eliminated monopolies.
Options :

1. # Treaty

2. % Policy

3. % Parliament

4. % Community

Question Number : 104 Question Id : 7532292132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R &1 TS G o1 forem ce &1 T o 3o SR UHITeR &1 9T HR o ol
Options :

1. % iy

2. % Hifd

3. ¢ 4UQ

4. % JHalg

Question Number : 105 Question Id : 7532292133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1791, who wrote a Declaration of the Rights of Woman and Citizen during French revolution?
Options :

1. # Germaine de Staél

2. ¥ Olympe de Gouges



3. % Marie Antoinette
4. # Sophie de Condorce

Question Number : 105 Question Id : 7532292133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1791 H, TR sifcr & SR Afgan SR ARG & SHTBRI Bt arvon fhae forg oo
Options :

1. % S S wrd

2. ¢ AW S o

3. % TS

4. % It Sl IS

Question Number : 106 Question Id : 7532292134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, did the nobles convince the king to dismiss Necker out of his duty?
Options :

1. % 1780

2. % 1782

3. % 1783

4.+ 1781

Question Number : 106 Question Id : 7532292134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o au H, TS = ST DI AHR o 370 UG (Hiod) I WIS HRA &b [e7g FmT U2
Options :

1. % 1780

2. % 1782

3. % 1783




4. % 1781

Question Number : 107 Question Id : 7532292135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Archbishop of Toulouse replaced Calonne?
Options :

1. % 1782

2. % 1784

3. ¥ 1788

4. % 1786

Question Number : 107 Question Id : 7532292135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg a9 H, TH & STHIIRY A HiaH o gfadTiud foar Um
Options :

1. #1782

2. % 1784

3. ¥ 1788

4. % 1786

Question Number : 108 Question Id : 7532292136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Event-Date’ is correct?

I. Storming of Bastille — 14 July 1789
II. Tennis Court oath — 19 June 1789
II1. Execution of Louis XVI — 11 July 1790

Options :
1. % Only I
2. % Only I



3. % Only III
4. % Il and III

Question Number : 108 Question Id : 7532292136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Te1-ferie &1 Fufifed 7 4 o5 I 7 981 32

. Sfee | STaRawd g8 - 14 S[ATs 1789
1. <RI I BT MUY - 19 T 1789

111 T3 XVI BT 8T - 11 JaAT8 1790
Options :

1. ¢ Had |
2. % BHad I
3. % Had I

4. % I dYUT I

Question Number : 109 Question Id : 7532292137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was proclaimed as the “Emperor of Hindustan” on May 11, 1857 by the sepoys?
Options :

1. % Wajid Ali Shah

2. % Mirza Mughal

3. ¥ Bahadur Shah Zafar

4. ¥ Bakht Khan

Question Number : 109 Question Id : 7532292137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 93, 1857 DI Ru1fedl gR1 ford " fergear &1 w5me =ifva fasar mam 4

Options :




1. % qIfoTg 3fcil 28
2. % fireT gira

3. ¥ BTG T8 ABRI
4. % TBI G

Question Number : 110 Question Id : 7532292138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
took control over Lucknow as a regent from 1857 to 1858.
Options :
1. # Rani Avantibai
2. # Rani Lakshmibai
3. ¥ Begum Hazrat Mahal
4. % Abbakka Chowta

Question Number : 110 Question Id : 7532292138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 1858 A% U IN-UTAMY o T H TRaT3 TR AIHR B ferdrm U
Options :

1. % I SrgdiaTg

2. % I Ae 9T

3. ¢ ST goRd Hed

4. % 3{eSde] el

Question Number : 111 Question Id : 7532292139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who prepared the outline of the Indian Council Act of 18927
Options :

1. # Lord Wellesley



2. % Lord Dufferin
3. % Lord Rippon
4. % Lord Dalhousie

Question Number : 111 Question Id : 7532292139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1892 & YR gy fFTH & o fram dar & o
Options :

1. % Qs dawah

2. ¢ s SHIRA

3. % dle RuA

4. % S SRS

Question Number : 112 Question Id : 7532292140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Viceroy of India from 1899 to 1905?
Options :

1. # Lord Wellesley

2. % Lord Irwin

3. % Lord Curzon

4. ¥ Lord Dufferin

Question Number : 112 Question Id : 7532292140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1899 I 1905 & HR o AR HIF A2
Options :

1. % QIS el

2. % qls gRAaA




3. ¢ @IS Hoi
4, % dls SHRA

Question Number : 113 Question Id : 7532292141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1918, Mahatma Gandhi organised Satyagraha movement in Ahmedabad to support
Options :

1. ¥ mill workers

2. # peasants

3. % moneylenders

4. # soldiers

Question Number : 113 Question Id : 7532292141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1918 H , TgTeT el 4 BT gAY B & U sgHareETE H YATUE Sficier BT Saler fobar |
Options :

1. ¢ i ool

2. % fHaHl

3. % HIEHRI

4. % YD

Question Number : 114 Question Id : 7532292142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
became the song of the Swadeshi Movement.
Options :
1. # Saare Jahan Se Acha
2. # Ekla Chalo Re
3. % Bande Mataram



4. % Jana Gana Mana

Question Number : 114 Question Id : 7532292142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R Sfiale o1 id o1 T |

Options :

1. % IR g 9 3T

2. % Tl Idl Y

3. ¢ §¢ HIARH

4, % S0 HA

Question Number : 115 Question Id : 7532292143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following revolutionary was executed on 23 March, 1931?

I. Bhagat Singh
II. Sukhdev

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 115 Question Id : 7532292143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & 3 59 BifaerRl Y 23 A, 1931 BT BRI S S T8 Ao

1. WTd g
1. g@cd

Options :



1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 116 Question Id : 7532292144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh <y TS &1 QRIT & Gferad T & &g o o ST S ot 2
Options :

1. ¢ T gty

2. % SId o HHTg

3. % MR T

4. % TIfer=T AT

Question Number : 116 Question Id : 7532292144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Empire was also known as the 'Policeman' of Europe?
Options :

1. ¥ Russian Empire

2. % Norwegian Empire

3. # Irish Empire

4. # Polish Empire

Question Number : 117 Question Id : 7532292145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The October revolution in Russia was also known as
Options :

1. # Folkspartei revolution



2. % Bolshevik revolution
3. ¥ Musavat revolution

4. % Moldavian revolution

Question Number : 117 Question Id : 7532292145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y AR PIMAB FEgH A S
Options :

1. ® BldhURIY hifd

2. ¢ SIRAdD hifd

3. % TYrad shifd

4. % HIAGIITT shifd

Question Number : 118 Question Id : 7532292146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Russian revolution of 1917 symbolized

L. Organized struggle
II. Clarity of perspective

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 118 Question Id : 7532292146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAdII

3. QYT 11 Sl

4. % qEIIATR I

Question Number : 119 Question Id : 7532292147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct regarding the Russian working class?

I. In the 1897 census, 28.4 percent of the male workers and 57.8 percent of the female workers of Russia were literate
II. In 1918, 44.2 percent of the male workers and 79.2 percent of the female workers were literate.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 119 Question Id : 7532292147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % ATEIIATSII

Question Number : 120 Question Id : 7532292148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Socialist society is characterised by
Options :

1. # political justice

2. # mental justice

3. % social justice

4. # cultural justice

Question Number : 120 Question Id : 7532292148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U A B fadwar . R
Options :

1. % ofifcred =g

2. % HHRYS A

3. ¢ I =1

4. % Gpidd ™
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Question Number : 121 Question Id : 7532292149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Karl Marx gave a social theory which linked

I. Economics
II. Politics
III. History

Options :

1. # Tand I

2. % Jand III

3. % Only I

4, % 1,11 and III

Question Number : 121 Question Id : 7532292149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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111, 38

Options :

1. % 14Ul
2. % 1dYT 111
3. % Bad 1

4. 1,11 YT I

Question Number : 122 Question Id : 7532292150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct?

I. Marxist socialism believes that socialism can only be achieved by violent revolution.
II. Evolutionary socialism implies that there is no need to overthrow the state.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 122 Question Id : 7532292150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 123 Question Id : 7532292151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of Charles Fourier, which of the following statements is correct?

I. He believed in the potency of big industry.
I1. His principal interest was in making work pleasant for the industrial workers.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 123 Question Id : 7532292151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BRAR & e A, Frufafaa § § o a1 sy 9e 82

I. 98 §9 IUNT $i fda T fayrg o=d A
1. 311 T B STl 4fien! & fod &1 &) gae s | 2|

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. % qEIIATR I

Question Number : 124 Question Id : 7532292152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
World War I was ended by the treaty of
Options :

1. # Rome

2. ¥ Versailles

3. % Portsmouth

4. ¥ Washington

Question Number : 124 Question Id : 7532292152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 39

2. ¥ I

3. % UICHHsY

4. % QIR

Question Number : 125 Question Id : 7532292153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who persuaded Yugoslavia to cede the port of Fiume and acquired it in 19247
Options :

1. # Adolf Hitler

2. % Joseph Stalin

3. ® Vladimir Lenin

4. % Benito Mussolini

Question Number : 125 Question Id : 7532292153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® TSl fgeeR

2. # Sw erfed
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Question Number : 126 Question Id : 7532292154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first world war initially was confined to
Options :

1. # Asia

2. % North America

3. % Africa

4. ¥ Europe

Question Number : 126 Question Id : 7532292154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YEIATH, YA Ay gg  dob g difad
Options :

1. % TRREn

2. % IR SRS

3. % 3MBIdI

4. QU

Question Number : 127 Question Id : 7532292155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The General Assembly, the Security Council, the Economic and Social Council are the main organs of



Options :

1. ¥ United Nations

2. % World Trade Organization

3. # International Monetary Fund

4. # European Union

Question Number : 127 Question Id : 7532292155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % {3y STOR FreA

3. % SR gl Iy
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Question Number : 128 Question Id : 7532292156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1879, Germany signed the Dual Alliance with
Options :

1. # France-Italy

2. % Spain-Malta

3. # Finland-Ireland

4. ¥ Austria-Hungary

Question Number : 128 Question Id : 7532292156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % Tpig - et
2. % WA - Hleel
4. ¢ IHEIER

Question Number : 129 Question Id : 7532292157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In World War I, the war between Russia and Germany was ended with
Options :

1. ¥ The treaty of Brest-Litovsk

2. # The treaty of Severs

3. # The treaty of Trianon

4. % The treaty of Neuilly Treaty

Question Number : 129 Question Id : 7532292157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Se-ferctoue! &1 Uiy

2. % Yay ol Hfy

3. % T 1 iy

4. % ot TiY B GfY

Question Number : 130 Question Id : 7532292158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of date - convention is correct?

I. 1958-Geneva Convention



II. 1971-Ramsar Convention
II1. 1972-Oslo Dumping Convention

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % 1, 1I and III

Question Number : 130 Question Id : 7532292158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14Ul

2. % IIdYTIII
3. % 1TdYT I
4, 1, 11 dYTIII

Question Number : 131 Question Id : 7532292159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who propounded ‘tidal hypothesis’ to explain the origin of the earth in the year 1919?
Options :

1. # S.W. Wooldrige

2. % James Jeans

3. # Count de Buffon

4. % T.C. Chamberlin



Question Number : 131 Question Id : 7532292159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T S&g qars
2. ¢ SR oI
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4. % A4 IrRfeF

Question Number : 132 Question Id : 7532292160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the chief constituents of ‘Barysphere layer’ of the earth?
Options :

1. # Tron and Nickel

2. % Silica and Aluminium

3. % Copper and Zinc

4. ¥ Magnesium and Tin

Question Number : 132 Question Id : 7532292160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt & SECHIIR R & GBI U T Q 2
Options :

1. ¥ g1 3R Mo

2. % Ruferet 3R Tegfiifam

3. % BIR IR Nip

4. % TIARMAW 3R feA

Question Number : 133 Question Id : 7532292161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a minor plate of the lithosphere?
Options :

1. # Antarctic plate

2. # Indian-Australian plate

3. % Eurasian plate

4. ¥ Caribbean plate

Question Number : 133 Question Id : 7532292161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifed & ¥ $F RieHsd 1 7Y We 82
Options :

1. % 3fCThiedh wie

2. % YRAY-ACATS we

3. % RREA @

4. ¢ RISTT we

Question Number : 134 Question Id : 7532292162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of fold, both the limbs of the fold become parallel as well as horizontal?
Options :

1. ¥ Recumbent fold

2. % Monoclinal fold

3. ¥ Asymmetrical fold

4. # TIsoclinal fold

Question Number : 134 Question Id : 7532292162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YFgHEC Bies

2. % AHFIfGATd Bics

3. % THHfdhd b

4. % IMYIfad Bics

Question Number : 135 Question Id : 7532292163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Volcanic cone — Example’ is correct?

I. Cinder volcanic cone — Mount Jorullo of Mexico
II. Parasite volcanic cone — Mount Shasta of the USA.
1. Composite volcanic cone — Mount Izalco of San Salvador

Options :

1. # Il and III
2. % Only I
3.9 Tand II

4. % I 1 and III

Question Number : 135 Question Id : 7532292163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 7532292164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pressure belts is also called ‘horse latitude’?
Options :

1. # Sub-polar low pressure belt

2. # Polar high pressure belt

3. ¥ Sub-tropical high pressure belt

4. % Equatorial low pressure belt

Question Number : 136 Question Id : 7532292164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % ARG Fgcre udl

Question Number : 137 Question Id : 7532292165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following local wind is prevalent in the Sahara Desert?
Options :

1. ® Pampero

2. % Mistral

3. % Bora

4. ¥ Harmattan



Question Number : 137 Question Id : 7532292165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QER

2. % fiRCrd

3. % §RI

4. BIHGA

Question Number : 138 Question Id : 7532292166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fujita scale is used to assess the relative severity and damage of
Options :

1. # landslides

2. # volcano

3. % earthquake

4. ¥ tornado

Question Number : 138 Question Id : 7532292166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 7532292167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The origin of tides in the ocean is primarily concerned with the

1. Gravitational forces of the sun
II. Gravitational forces of the moon

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 139 Question Id : 7532292167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 140 Question Id : 7532292168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which layer of atmosphere extends between 50 km and 80 km?
Options :

1. ¥ Mesosphere

2. # Stratosphere



3. * Troposphere

4. * Thermosphere

Question Number : 140 Question Id : 7532292168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 141 Question Id : 7532292169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following biodiversity hotspot is NOT found in India?
Options :

1. # Indo-Burma

2. % Western Ghats

3. % Deccan plateau

4. * Himalayan

Question Number : 141 Question Id : 7532292169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YRd-gA

2. ® Uigdigre

3. ¥ qdh I HIUSR

4, % g™

Question Number : 142 Question Id : 7532292170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Contouring is a method of representing relief on topographical maps. Which of the following statements is correct regarding countouring?



I. Contours are isarithm which connect points of same elevation.
II. It is a technique of line symbol.
II1. The horizontal distance between contour lines is known as contour interval.

Options :
l.¥ Tand II
2. % Il and III
3. % Only I
4. % Only III

Question Number : 142 Question Id : 7532292170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1qUT1I

2. % [ AUTII

3. % 6had ]

4. % FHad III

Question Number : 143 Question Id : 7532292171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the distribution of water vapours in the atmosphere?

I. Water vapour content in the atmosphere is lowest near the equator.
II. Most of the water vapours are is found in stratosphere.

Options :
1. % Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 143 Question Id : 7532292171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had |

2. % Had Il

3. % [ UGl

4. BRI

Question Number : 144 Question Id : 7532292172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The highest peak in the Western Ghats is
Options :

1. % Kolaribetta

2. % Kalsubai

3. ¥ Anaimudi

4. % Kudermukh

Question Number : 144 Question Id : 7532292172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 7532292173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following wood is found in the tropical evergreen forests of India?
Options :

1. ¥ Rosewood

2. % Sal

3. % Deodar

4. % Spruce

Question Number : 145 Question Id : 7532292173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3Sgs
2. % Iq
3. % ¢dGR
4. % T

Question Number : 146 Question Id : 7532292174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The highest peak of the Aravalli mountains is
Options :

1. % Dilwara



2. % Guru Shikhar
3. % Dhoniya
4. % Kamalnath

Question Number : 146 Question Id : 7532292174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRTGCH Udd B gad St dAel gl
Options :

1. % foerarst

2. ¢ T+ RIR

3. % eif

4, % HHAY

Question Number : 147 Question Id : 7532292175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a tributary of the Kaveri river?
Options :

1. % Son

2. ¥ Hemavati

3. ¥ Malprabha

4. ¥ Wardha

Question Number : 147 Question Id : 7532292175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 9
2. ¢ GHIE!



3. % AUl
4. % gyf

Question Number : 148 Question Id : 7532292176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bhor ghat is a mountain passage in India which connects
Options :

1. ¥ Mumbai to Pune

2. % Mount Abu to Udaipur

3. % Coimbatore to Bangalore

4. % Kochi to Chennai

Question Number : 148 Question Id : 7532292176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ e 9 go

2. % HI3T 31 ¥ I&TR
3. % PRATR I dTAR
4. % DAY A

Question Number : 149 Question Id : 7532292177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following characteristics of the black soil are correct?

I. These soils have a high water retaining capacity.
II. They develop wide cracks when dry.
III. These soils have clayey texture.

Options :



1. # Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 149 Question Id : 7532292177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1A

2. % [1AUTII

3. % [ U

4.9 1, 11 AU 111

Question Number : 150 Question Id : 7532292178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which stage of demographic transition represents low birth and death rate and slow population growth?
Options :

1. % Stage 1

2. # Stage 2

3. % Stage 5

4. ¥ Stage 4

Question Number : 150 Question Id : 7532292178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SHifebep1d HepHUT b1 bl T TRVT A ST 3R H &R 3R it S g bl T el 82
Options :

1. % =0T

2. % W12

3. % W5

4. ¥ 014

Question Number : 151 Question Id : 7532292179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # ¥ S HRA &1 gORT Y89 g0 UTgeHd I 82
Options :

1. % I

2. ¢ AT

3. % didr

4. % Sl

Question Number : 151 Question Id : 7532292179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the second most important metallurgical industry of India?
Options :

1. % Lead

2. % Aluminium

3. % Copper

4. # Zinc

Question Number : 152 Question Id : 7532292180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the Ahmedabad-Vadodra industrial region?



I. It is the third largest industrial region of the country.
II. Surat is well known for silk textile and diamond cutting.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 152 Question Id : 7532292180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gHeETe-gerexT e &7 & ToH § Fufiad & A &1 91 Y= I8l 82
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 153 Question Id : 7532292181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Jhum’ cultivation method is associated with which part of India?
Options :

1. # South-eastern

2. ¥ North-eastern

3. % North-western

4. % South-western

Question Number : 153 Question Id : 7532292181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 et fafy yRa & 59 T & Ty St g3 82
Options :

1. % gfaogd

2. ¢ IWR-Td

3. % JTR-UIEH

4. % Glgoruiget

Question Number : 154 Question Id : 7532292182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a rabi crop?
Options :

1. ¥ Wheat

2. % Gram

3. % Linseed

4. ¥ Maize

Question Number : 154 Question Id : 7532292182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & @ 319 6l B Th Bud T8 6
Options :

1. % T8

2. % YUY

3. % 31Tl BT el

4. ¥ Hadh]

Question Number : 155 Question Id : 7532292183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following geographical conditions is required for tea cultivation?

I. The tea plant grows well in tropical and sub-tropical climates.
II. It requires a fertile well-drained soil which is rich in humus and organic matter.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 155 Question Id : 7532292183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Yiifere uRfRifadl & @ o O § 91 o1 @dt & e smazas 22
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 156 Question Id : 7532292184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which South Asian country has the largest telecommunication network?
Options :

1. ¥ India

2. % Nepal

3. % Bangladesh

4. % Sri Lanka



Question Number : 156 Question Id : 7532292184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for féror uftrs 331 7 qod 99T AR Aedd 82
Options :

1. ¥ HRd

2. % AU

3. % giAe

4. % Hiciopl

Question Number : 157 Question Id : 7532292185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an international airport in India?

I. Kozhikode airport, Calicut
II. Sardar Vallabh Bhai Patel Airport, Ahmedabad

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. % Neither I nor II

Question Number : 157 Question Id : 7532292185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 19 91 4R | T SIaRRITIT 518 3T 82
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Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 158 Question Id : 7532292186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries was NOT affected by the Sumatra tsunami of 2004?
Options :

1. # Sri Lanka

2. # Thailand

3. % India

4. ¥ Afghanistan

Question Number : 158 Question Id : 7532292186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FraferTae & | oI |1 31 2004 BT FHT GATH A THITed TET gafm ur?
Options :

1. % gicioT

2. % YIRAS

3. % HRd

4. BT

Question Number : 159 Question Id : 7532292187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a man induced disaster?

I. Nuclear wars
II. Accelerated soil erosion



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 159 Question Id : 7532292187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & 4 o @ g IR suer 78t g2

L R 5
I1. TRd HeT 3uREA

Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % AT I

Question Number : 160 Question Id : 7532292188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to common connotation, disaster risk is defined as
Options :

1. % Consequences of hazard Vulnerability

2. ¥ Hazard Vulnerability

3. ® Probability of occurrence Vulnerability

4. ¥ Hazard Probability of occurrence

Question Number : 160 Question Id : 7532292188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SIRaH & gome Negar
2. ¢ SIRGH Negar

3. % YA Bl UrgadT Hedl
4. % SNfYH g1 B Urgad
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Question Number : 161 Question Id : 7532292189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Post-disaster stage of disaster reduction and management includes three ‘R’ steps. Which of the following combinations is correct?
Options :

1. % Review, Reorganise, Refinement

2. # Reserve, Reconstruct, Review

3. #* Relief, Review, Record

4. ¥ Relief, Recovery, Rehabilitation

Question Number : 161 Question Id : 7532292189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BT 3R TEeH & TSI & &1 & °01 | diF ‘R’ IR0 A ¢ | o & 9 &F a1 g b8l 82
Options :

1. % fYog, Rafuse, Rwgade

2. % f¥org, Rdaede, Ry

3. % f¥efiw, Reg, Rl

4.+ Raiiws, Repat, Rgaeiies

Question Number : 162 Question Id : 7532292190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The minimum support prices are announced by the Government of India

I. at the beginning of sowing season
II. at the end of harvesting season

Options :

1. % Only I

2. % Only II

3. % Both Iand II



4. % Neither [ nor 11

Question Number : 162 Question Id : 7532292190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT GHI G BT U YR WRBR §RI B STl B

I. & AT P AT o
H.%%ﬁﬂﬂ;lsfﬁﬁ
Options :

1. Had |

2. % Had Il

3. % [ UGl

4. % qEIIATRIII

Question Number : 163 Question Id : 7532292191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

West Bengal has an operational Special Economic Zone (SEZ) headquarter at
Options :

1. # Durgapur

2. ¥ Falta

3. # Kolkata

4. # Darjeeling

Question Number : 163 Question Id : 7532292191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ufgm e o # U ufkare faviy ofdfes &7 (WU 3 5s) Taad g |

Options :

1. %GR

2. ¥ Wlel]



3. % PHIABI

Question Number : 164 Question Id : 7532292192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following features of underdeveloped countries is correct?

I. Low Rate of Capital Formation
II. Under-utilization of labour

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 164 Question Id : 7532292192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SifaeRia Gl o1 Fufefad 7 3 1 At faivd w8l o2

L. gt Fefu ot g =
1. 9H BT HH IUINT
Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I

Question Number : 165 Question Id : 7532292193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the ‘The Structuralist Views of Economic Development’?



I. Economic development is caused by movement of labour from one sector to that of the other.
II. Emphasizes the importance of changes in the structure of the economy.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 165 Question Id : 7532292193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. ¥ Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 166 Question Id : 7532292194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The secondary sector of an economy is also called the
Options :

1. # logistics sector

2. % industrial sector

3. % banking sector

4. # agricultural sector



Question Number : 166 Question Id : 7532292194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& SR & fecfiad &7 &l Wi P |
Options :

1. % 3G &7

2. ¢ SN &

3. % dfd e

4. % Py &

Question Number : 167 Question Id : 7532292195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fixed interest rate at which the Reserve Bank of India provides an overnight liquidity to banks is called
Options :

1. # Borrowing rate

2. % Bank rate

3. % Call money rate

4. ¥ Repo rate

Question Number : 167 Question Id : 7532292195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRR 1 a1 8, Forg IR Roid § 31Tts 3fean, ol &Y I WR & I aRadT U odl & S9 FHET I g
Options :

|, % JYR R

2. % dp R

3. % B A1 G

4. IR

Question Number : 168 Question Id : 7532292196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a money market instrument?

I. Treasury bills
II. Certificate deposits

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 168 Question Id : 7532292196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I DI 91 G&T iR &1 I8 82

I ¢oR! faa
I1. YHTUTGA STHT
Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I

Question Number : 169 Question Id : 7532292197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Whenever the RBI wants to put a check on the expansion of credit, it the cash reserve ratio.

Options :
1. #¥ Removes
2. % Increases

3. % neutralises



4. ® Lowers

Question Number : 169 Question Id : 7532292197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 1t oR . 311E BT & IR W A AT A18l 7, A 98 g SRFE ST qargl
Options :

1. # gl

2. ¥ JIqI MR

3. % AgyTE AR

4. ® HH DI

Question Number : 170 Question Id : 7532292198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given statements is NOT correct regarding the bank deposits in India?

Options :

1. ® No interest is payable on current deposits.

2. ¥ The tenure of a recurring deposit can be anything from 7 days to 12 months.

3. # Banks are permitted to prescribe their own interest rates for fixed deposits of different maturities.

4. ® Interest on savings bank accounts is prescribed by Reserve Bank of India.

Question Number : 170 Question Id : 7532292198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % §Id 9P WAl W AT YR Roid § gR1 Auiia fear smarg |




Question Number : 171 Question Id : 7532292199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with the Appellate Jurisdiction of Supreme Court in regard to criminal matters?
Options :

1. # Article 143

2. % Article 158

3. % Article 147

4. ¥ Article 134

Question Number : 171 Question Id : 7532292199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT T BT B AT TG Gifed Al B Swdd <Armad B UTe SifaemTiar § Tefed g2
Options :

1. % 3Jwa 143

2. % 34 158

3. % TG 147

4. ¢ TG 134

Question Number : 172 Question Id : 7532292200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following schedules of the Indian constitution does the division of legislative powers between the union and states government is
laid?

Options :

1. #* First schedule

2. ¥ Seventh schedules

3. # Third schedule

4. # Fourth schedule



Question Number : 172 Question Id : 7532292200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Siaur 1 Frafemad # 4 fow gl # dhg 3R e WHR o st et kil 1 faHs MeiRd fovar man g2
Options :

1. % gl ol

2. ¢ HIddl gt

3. ® AR S

4. % I} SR

Question Number : 173 Question Id : 7532292201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the three lists mentioned in the constitution regarding division of powers?
Options :

1. % The union list

2. % The state list

3. # The concurrent list

4. ¥ The common list

Question Number : 173 Question Id : 7532292201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g gt

2. % oY gl

3. % Ul gl

4. HHY Gl

Question Number : 174 Question Id : 7532292202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The institutional head of government at the state level in India as
Options :

1. # Chief Minister

2. % President

3. ¥ Governor

4. % Prime Minister

Question Number : 174 Question Id : 7532292202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAH, TI TR WM MWIR BIAMIE  glaTol
Options :

1. % T T3l

2. % yufd

3. ¢ YUTc]

4. % QYTTHAT

Question Number : 175 Question Id : 7532292203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are the most significant means of realising the aspirations of the people in a democracy.
Options :
1. # Ministers
2. % Political groups
3. ¥ Elections

4. # Independent candidates

Question Number : 175 Question Id : 7532292203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



clebeial H ST bl ST &SI Dl HIBR B & forg BEREREPURICEE
Options :

1. % O3l

2. % ISHITdD Y8

3. ¥ 919

4. % ey IWgar

Question Number : 176 Question Id : 7532292204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms is used for describing the different geographical areas which are divided for the purpose of elections to the House
of people?

Options :
1. # Subdivisions
2. ¥ Constituency
3. # Blok
4. ¥ Zone

Question Number : 176 Question Id : 7532292204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 30 faHmT

2. ¢ 14 &7

3. % D

4. % S

Question Number : 177 Question Id : 7532292205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the grounds upon which a voter in any constituency can be disqualified?



I. Grounds of non-residence
II. A person with unsound mind
II1. Age below 21 years

Options :

l.¥ Tand II

2. % Il and III
3. % Iand III

4. % T 1 and IIT

Question Number : 177 Question Id : 7532292205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1310

2. ® [1QYTIII

3. % 19U

4. % [ 11 dYUTIII

Question Number : 178 Question Id : 7532292206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties is NOT a state party in India?
Options :

1. # Aam Aadmi Party

2. % Rashtriya Lok Dal

3. % Bahujan Samaj Party

4. ¥ Samajwadi Party



Question Number : 178 Question Id : 7532292206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed & 9 oiF I urdf yRa o Tou B o T 7o
Options :

1. % 317 3reHt ardf

2. % IS lh G

3. ¥ Sgoi a7 et

4. % gHTSATE! uref

Question Number : 179 Question Id : 7532292207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian Constitution is related with sessions of parliament, prorogation and dissolution?
Options :

1. # Article 81

2. % Article 78

3. % Article 87

4. ¥ Article 85

Question Number : 179 Question Id : 7532292207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT S AT 3¢ TS & T, AT 3R faee J defda g2
Options :

1. % 396 81

2. % 3G 78

3. % TG 87

4. TG 85




Question Number : 180 Question Id : 7532292208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the Zila Parishad in India?

L. Zila Parishad includes elected members chosen directly in tutorial constituencies.
I1. It also includes MLAs of all ‘kshetra’ panchayats in the district.
III. Its primary function includes supervising the activities of gram panchayats.

Options :

1. # Iand II

2. % Il and III
3. % TIand III

4, 1,11 and 11T

Question Number : 180 Question Id : 7532292208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [qUTII

2. % [ YT

3. % 19U

4. 1, 1 QYT 11
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Question Number : 181 Question Id : 7532292209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did the ‘Declaration of Independence’ affected the legal creation of United States of America?
Options :

1. % 1786

2. % 1796

3. % 1756

4. 1776

Question Number : 181 Question Id : 7532292209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1786

2. % 1796

3. % 1756

4. ¥ 1776

Question Number : 182 Question Id : 7532292210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following book written by John Locke is an important source book of classical liberal ideas?
Options :

1. ¥ Second treatise on government

2. # The republic

3. % A letter concerning toleration

4. # The politics and the constitution

Question Number : 182 Question Id : 7532292210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Y$HS Tlergd 3 Ta-He

2. % g Rusfore

3. % 3 WeR DR CreRaH

4. % G UIACH TS T DI IyRH

Question Number : 183 Question Id : 7532292211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following types of democracies is specifically associated with the idea of globalisation?
Options :

1. # Participatory Democracy

2. # Deliberative Democracy

3. # Social Democracy

4. ¥ Cosmopolitan Democracy

Question Number : 183 Question Id : 7532292211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Yrfiart ueird=

2. % Yfoaa diedd

3. % HHTSID Al

4.« TR Al

Question Number : 184 Question Id : 7532292212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The protest against water privatisation in Bolivia was led by

I. FEDECOR organisation
I1. Political party

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 184 Question Id : 7532292212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % Had Il

3. % [ QYT gHl
4. % I IAB I

Question Number : 185 Question Id : 7532292213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given statements regarding the Nepal’s Royal Constitution of Democracy of 1959 is NOT correct?
Options :

1. # It envisaged a parliamentary system under a constitutional monarchy.

2. % It provided for representative institutions like the bicameral legislature.

3. # The king was vested with emergency powers to suspend all or part of the constitution.

4. ¥ The king was given no control over the army and foreign affairs.

Question Number : 185 Question Id : 7532292213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 7532292214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Eighth schedule of the Indian constitution deals with
Options :

1. # Allocation of seats

2. ¥ Languages

3. % Concurrent list

4. % Qaths or Affirmation

Question Number : 186 Question Id : 7532292214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Ticl BT 3frdc

2.9 HIY[

3. % gHad Qi

4. % YOYIT YR

Question Number : 187 Question Id : 7532292215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As advised by the constitution of India, the gap between the two parliamentary sessions should not be more than
Options :

1. ¥ 6 months

2. % 3 months

3. ¥ 8 months

4. ¥ 2 months

Question Number : 187 Question Id : 7532292215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.v 6 HgIH

2. % 3HgH

3. % gHGH

4. % 2 g

Question Number : 188 Question Id : 7532292216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of the Indian constitution talks about the joint sitting of both houses in certain cases.
Options :
1. % Article 101
2. % Article 108
3. % Article 150
4. % Article 120

Question Number : 188 Question Id : 7532292216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3F®q 101

2. ¥ 3G 108

3. % 3T 150

4. % 3TWa 120

Question Number : 189 Question Id : 7532292217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The administrative expenses of the office of the Comptroller and Auditor-General of India are charged upon the

I. Consolidated fund of India
II. Contingency fund of India

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 189 Question Id : 7532292217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Hadl
2. % Had Il
3. % [qUT el
4. % 1B

Question Number : 190 Question Id : 7532292218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Panchayati Raj institutions were given constitutional status by which of the following constitutional amendment act of Indian Constitution?
Options :

1. * 68

2.¥73

3. %52

4, % 45



Question Number : 190 Question Id : 7532292218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 68
2.9 73
3. % 52
4. % 45
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Question Number : 191 Question Id : 7532292219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following social science subject may not be categorized under the ‘Pure social sciences’ branch?
Options :

1. # Anthropology

2. % History

3. * Public administration

4. ¥ Medicine

Question Number : 191 Question Id : 7532292219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % H[Hd R

2. % gfer

3. % b U=

4. UISRA

Question Number : 192 Question Id : 7532292220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dramatization is one of the teaching-learning strategy used by teachers in a social sciences class. Which of the following statement is correct?

I. The drama on “Krishna, the child” will have more action and special effects.
II. The drama on “Chatrapati Shivaji” will have more emphasis on words.

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 192 Question Id : 7532292220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 193 Question Id : 7532292221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Assessment of Learning is divided into categories. Which of the following are those categories?

I. Formative
I1. Summative

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II



Question Number : 193 Question Id : 7532292221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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L. YoldIHD (Formative)
1. b ddIHD (Summative)

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 194 Question Id : 7532292222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In enhancing physical climate of the classroom, what is the role of a teacher?

I. Draw attention of the school authorities for regular maintenance of the school building
I1. Place a dust bin in the classroom for systematic disposal of garbage of the classroom

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 194 Question Id : 7532292222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 195 Question Id : 7532292223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct about the basics for learning art through exploration and understanding from the immediate
environment?

I. Shape defines an area, character and varied contour.
II. Space is that area on which the art form is created.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 195 Question Id : 7532292223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 7532292224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who are the chief exponents of Trait theory of personality?

I. R.B. Cattell
II. H.J. Eysnck
III. Sigmund Freud

Options :

1. % [, II and IIT
2. % Jand III

3. % Only II
4.9 Tand I

Question Number : 196 Question Id : 7532292224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I, I dYUTIII
2. % I dYUTI
3. % Bad 1l

4. ¥ 1dYTII

Question Number : 197 Question Id : 7532292225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination of situation — technique to assess the learning of child is correct?



I. Some children may not be able to learn any basic academic skills, but they may be having talent in some other area — Compensation technique
II. Suman is studying in class 4. She is able to follow the lessons in the class. But when the teacher asks her questions in oral exam, she is unable
to tell — Modification technique

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 197 Question Id : 7532292225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had II

3. ¢ 1aUT I el

4. ® AIQIIATBII

Question Number : 198 Question Id : 7532292226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the indicators of a empowered women?

L. Participate in decision making process
II. Self — Reliant
III. Economically independent

Options :



1. # Il and III
2. % Only I
3.9 1, Il and 111
4. % Only III

Question Number : 198 Question Id : 7532292226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I dUTIII
2. % Had 1
3.9 1 I dYUTIII

4. % Had III

Question Number : 199 Question Id : 7532292227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination of stage of Language Acquisition — age of children is correct?

I. Babbling — Around 6 months
II. One word stage — Around 1 year

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II



Question Number : 199 Question Id : 7532292227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had Il
3. [ QYT I gl
4. % I I

Question Number : 200 Question Id : 7532292228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Internal factors that influence the growth and development of an individual are

I. Intelligence
II. Heredity Factors
II1. Social Nature

Options :

1. # IIand III
2. % Tand II
3.9 1, Il and 111
4. % Only III

Question Number : 200 Question Id : 7532292228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I1dUT I

2. % 14dUTII

3.4 1 11 dYT I
4. % Had I




